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PROFIT AND LOSS ACCOUNT AND
BALANCE SHEET

PETTY CASH BOOK

 Most payments are made by cheque
 Small daily payments done through petty cash 

(£100.00)
 Looks similar to cash book
 Columnar petty cash book has a detailed 

breakdown of headings
 The IMPREST system

 Each month is commenced with the same amount as 
the month before, i.e. opening balance is constant.

PURPOSE OF P&L A/C

 State of the business
 Viability for future business
 Idea of cost breakdown
 Increase efficiency

STRUCTURE OF P & L A/C
 Revenue/Sales 1000000
 COGS (600000)
 Gross Profit 400000
 SG&A                    ( 190000)
 Depreciation (10000)
 Operating Profit 200000
 Interest Exp (10000)
 Profit before tax 190000
 Tax   20%                  (38000)
 Net Income/Profit        152000

Trading Account

TRADING ACCOUNT

Sales 11000
Less sales return (1000)
Net sales/ turnover 10000
Cost of goods
Opening stock 5000
Purchases 3000
Less purchase returns (1000)

2000
Add carriage inwards 1000 3000

8000
Less closing stock 2000 6000
Gross profit 4000

BAD DEBTS AND BAD DEBT PROVISIONS

 Debtor account credited with bad debt
 Bad debt account is debited.

 P& L Account
 Bad debt is in the debit column, considered a 

financial/sales  expense. 

 BAD DEBT PROVISIONS (liability)
 Provision for bad debt credited
 Bad debt debited
 Provision for bad debt is always deducted from 

debtors
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DISCOUNTS

 Discount received is debited in P&L (benefit)
 Discount allowed is credited in P&L (expense)

 PROVISION FOR DISCOUNT ALLOWED
 Provision for discount allowed is debited in P&L
 Discount account is credited.
 Provision for discount is reduced from the debtors. 

It is a financial expense.

 What about provision for discount received. 
(principle of conservatism/ realization)

DEPRECIATION

 Straight line method
 Reducing balance method  

 Fixed percentage
 double declining

 Provision for depreciation (expenses) is reduced 
from gross profit at year end. Charged to P&L a/c

 Depreciation is reduced from the PP&E in balance 
sheet

PREPAYMENT AND ACCRUALS

 Income = Receipts + Accruals – prepayments
 Expenditure = payments + accruals – prepayments

 Credit sales account, debit goods in transit
 Debit sales return, credit goods in transit
 Debit sales (credit note), credit customer account

EXAMPLE OF P&L
Discount allowed 32
Discount received 267
Gross profit 83497
Salaries 44216
Bank charges 193
Office expenses 1361
Rent 19421
Bad debts 937
Carriage outwards 5971
Plant and machinery 50000
Note. Deprecation of plant is 10%
Note; rent owning due is 2000
Note office expense included £250
paid as advance for next year.

EXAMPLE OF P&L
Gross profit 83497
Discount received 267 83764
Expenses SG&A
Salaries 44216
Bank charges 193
Office expenses 1361 -250
Discount allowed 32
Rent 19421 + 2000
Bad debts 937
Carriage outwards 5971
Depreciation 50000 * 10%

78881
Net Profit 4883



10/23/2009

3

BALANCE SHEET

 Asset = Liability + Equity (Capital)
 Assets are probable current and future economic 

benefits
 Liabilities are probable future sacrifices of economic 

benefit. Obligations, transfer of assets in the future.


